Thursday 5th March

WALT find | Less than a given number.

40 - 60: finds one more from a group of up to 5 objects, then @
|0 objects. ELG: Children count reliably with numbers from one
to 20, place them in order and say which number is one less

than a given number.

| less than |10 =

01 234567 89%9M0MNMM1RRBKLIBIHTTIBY 20

| less than |4 =

01 234567 89%90NMTM1RVBKLISBIHGTIBH 20

| less than |7 =

01 2 3 4567 8 90MR21BB1KL151HTT 1819 2
| less than 19 =

01 234567 890NMM1R1BBKLI56TIBNY 20

Let’s read and answer this number sentence.

[6-1 =

01234567 89%910NMRRBKLI5EHBTIBY 20




